Please show steps so I can figure out similar problems. Thanks!
Pg 371 & 372
49. Automobile Sales.

The Ratio of sports cars to luxury cars sold in Wentworth one month was 3 to 2. If 20 more sports cars were sold than luxury cars, then how many of each were sold?
61. A fast food waste.
Please check my work and complete part B. in detail.
The accompanying figure shows the typical distribution of waste at a fast food restaurant.

a)  What is the ratio of customer waste to food waste?
 

Customer's waster = 6% and food waste = 34%
Reduce the fraction:
34   =   17
6          3
 

(Divided by 2)
 

Answer:
3 to 17
 

b)  If a typical McDonald's generates 57 more pounds of food waste than customer waste per day, then how many pounds of customer waste does it generate?
 

PG 378, problems 15, 18, & 25


Solve each formula for the indicated variable.
15. 
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find the value of the indicated variable.

25. In the formula of:   
[image: image3.wmf]p

m

a

1

1

=

+

 for p               if  p = 6 and m= 4, find a
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